>

a solution with two a & b endmembers that do not interact (except entropic terms)
xa and xb are the mole fractions; va and vb, the molar volumes; vfa and vfb are the volume fractions.

=> V := xa-va(P) + xb-vb(P);

i V:=xava(P) +xbvb(P) 1)
. 1
> dpdv = g v p)
dpdy = - L - @)
] xa(ﬁva(P))+xb(ﬁvb(P))
> K := -dpdv-V;
xava(P) +xbvb(P)
K:= - 3
xa(iva(P)j—i—xb(ivb(P)) ©
i dpP dP
> simplify(K);
-xava(P) —xbvb(P) )
xa d va(P) | +xb d vb(P)
i (3 valP) ) 30 G voiP) )
_ - __va(P) __vb(P)
> Kl := subs(dlﬁ(va(P), P) = Ka , diff (vb(P), P) Kb ,K)
_ __ xava(P) +xbvb(P)
KL= _xava(P) _ xbvb(P) ®)
i Ka Kb
> simplify(K1)
(xava(P) +xbvb(P)) Ka Kb (6)
i xbvb(P) Ka +xava(P) Kb
__ xa-va(P)
> vfa = VI
L xava(P)
i via = xava(P) + xbvb(P) ()
. Xb-vb(P)
> vfb := v
. xb vb(P)
i Vi = xava(P) +xb vh(P) ®)
_ (va , viby™
> reuss := ( Ka + Kb )
. 1
FEUsS = xava(P) xb vb(P) ©)
i (xava(P) +xbvb(P)) Ka (xava(P) +xbvb(P)) Kb
> simplify(reuss — K1);
0 (10)




